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THFX Sy - TFE - fh - sl % ZREAL B = A B HIG & f FHE (AR S
b FHRR M (H 2R LA
= 1 6,178, 166
CCTV AR
= 1 6,178, 166
COTVEE fiE
= 1 6,178, 166
CCTV IPhA73L(E & 5
& 2 1,786, 366 3,572,732
L2-SW FEER XA 7C
& 2 804, 323 1,608, 646
AT ATIIN =R PEEREA  SM2CH  FcoK40km 16
bps 4 H 1.31umiy
& 4 234,517 938, 068
IR FSPD
& 2 16,993 33,986
LAN/H SPD
& 2 12, 367 24,734
RN
= 1 6,178, 166
s PR M
= 1 3,718,233
CCTVERfi L.
= 1 2,603, 460
COTVEE g 1 T
= 1 269, 760
CCTV IPhp72&{ERR & PEfT - FREE
& 2 58, 345 116, 690
L2-SWak & Paft - s
& 2 45, 492 90, 984
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THX Sy - THE - FlRBI - H050 H B B B’ A B HIG & f FHE (AR S
AT ATIIN PR E Paft - s
& 2 13, 347 26, 694
AT AT HERE Paff - FHdE
21 B LABEAHIE
& 2 9, 344 18, 688
IR FASPDR%E
& 2 4,176 8, 352
LANJH SPD % &
& 2 4,176 8, 352
Ser-77 ViR 1
= 1 523,271
SR AL AR SM-4C
m 360 636. 1 228,996
SR AL AR SM-4C
m 33 831 27,423
Her-7" vEE 57-7" LA F
(&0 2 46, 088 92,176
=77 Wkt 577" LA F
(&0 2 29,717 59, 434
Seh-7" vkl 20055 LLF
J71H) 4 16,984 67,936
Seh-77 vkl 20055 LLF
Scta) 2 23,653 47, 306
Bl & - i L
= 1 1,810, 429
B ELAR CVr=7" I (6OOVAHER V=77 ) 2.0
600V 3. 5mm2 X 2C
m 11 1,703 18,733
B ELAR TVF=7" v (600VE" = Vieig ) 5. 5
m2
m 11 434 4,774
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B R CVr=7" I (6OOVAHER V=77 ) 2.0
600V 3. 5mm2 X 2C
m 267 1,703 454,701
B R TVr=7" v (600VE" = Vieig B 1) 5. 5
m2
m 267 434 115,878
B R UTP#—7" I Cat5e-4P
m 20 1,575 31,500
B R CVr=7" I (6OOVAHGER Vr—7" ) 2.0
600V 3. 5mm2 X 2C
m 1 2,622 2,622
B R TVF=7" v (600VE" = Vieig B 1) 5. 5
m2
m 1 628.9 628
B EdR UTP/-7" I Cat5e-4P
m 1 2,494 2,494
JBAMEE G £% 28mm
m 293 3,999 1,171,707
ATV AN /N
ZN 10 88. 86 888
TN ARy YT
& 4 1,626 6,504
YAThAVT ) V=yay
= 1 983, 362
YAThAVT) V=yay
= 1 983, 362
YAThAVT ) V=yay
= 1 983, 362
T AL R T
= 1 26, 566
i 26 T
= 1 26, 566
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[FGan
= 1 104, 845
A BT
= 1 104, 845
TG B
= 1 104, 845
[EE77AN %
= 1 3,718,233
Bl
= 1 1,534, 267
BSHITE ¢
= 1 160, 139
e e By
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BRR s s (it k)
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Him Gk (Fi L)
= 1 1,374,128
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= 1 3,296,075
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T
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THFX Sy - TFE - fh - sl % ZREAL B = A B HIG & f FHE (AR S
b FHRR M (H 2R LA
= 1 3,089, 083
CCTV AR
= 1 3,089, 083
COTVEE fiE
= 1 3,089, 083
CCTV IPhA73L(E & 5
& 1 1,786, 366 1,786, 366
L2-SW EAER 477 C
& 1 804, 323 804, 323
AT ATIIN =R PEEREA  SM2CH  FcoK40km 16
bps 4 H 1.31umiy
& 2 234,517 469, 034
IR FSPD
& 1 16,993 16,993
LAN/H SPD
& 1 12, 367 12, 367
RN
= 1 3,089, 083
s PR M
= 1 2,018, 361
CCTVERfi L.
= 1 1,749, 042
COTVEE g 1 T
= 1 134, 880
CCTV IPhp72&{ERR & PEfT - FREE
& 1 58, 345 58, 345
L2-SWak# Pafl - A
& 1 45, 492 45, 492
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AT ATIIN PR E Paft - s
& 1 13, 347 13, 347
AT ATIIN PR E Paft - s
21 B LABEAHIE
& 1 9, 344 9, 344
IR FASPDR%E
& 1 4,176 4,176
LANJH SPD % &
& 1 4,176 4,176
Ser-77 ViR 1
= 1 386, 992
SR AL AR SM-4C
m 332 636. 1 211,185
SR AL AR SM-4C
m 51 831 42, 381
Her-7" vEE 57-7" LA F
(&0 1 46, 088 46, 088
=77 Wkt 577" LA F
(&0 1 29,717 29,717
Seh-7" vkl 20055 LLF
J71H) 2 16,984 33, 968
Seh-77 vkl 20055 LLF
Scta) 1 23,653 23,653
Bl & - i L
= 1 1,227,170
B R CVr=7" I (6OOVAHER V=77 ) 2.0
600V 3. 5mm2 X 2C
m 162 1,703 275, 886
B R TVF=7" v (600VE" = Vieig ) 5. 5
m2
m 162 434 70, 308
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B R UTP/—7" I Cat5e-4P
m 10 1,575 15, 750
B R CVr=7" I (6OOVAHER V=77 ) 2.0
600V 3. 5mm2 X 2C
m 1 2,622 2,622
B R TVr=7" v (600VE" = Vieig 1) 5. 5
m2
m 1 628.9 628
B R UTP#—7" I Catebe—4P
m 1 2,494 2,494
JBAMEE G & 28mm
m 214 3,999 855, 786
AFIVAN VP
ZN 5 88. 86 444
TN ARy YT
& 2 1,626 3,252
YAThAVT ) V=yay
= 1 199, 422
YAThAVT) V=yay
= 1 199, 422
YAThAVT ) V=yay
= 1 199, 422
[FGan
= 1 69, 897
A BT
= 1 69, 897
A TG B
= 1 69, 897
[EE77N %
= 1 2,018, 361
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= 1 85,195
BRRdcE s (it k)
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Him Gk (Fi L)
= 1 913, 337
T
= 1 3,016, 893
BTk Xegiib oy
= 1 2,076, 766
PeaR R
= 1 948, 148
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= 1 385, 672
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T
= 1 6,041, 807
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b FHRR M (H 2R LA
= 1 3,089, 083
CCTV AR
= 1 3,089, 083
COTVEE fiE
= 1 3,089, 083
CCTV IPhA73L(E & 5
& 1 1,786, 366 1,786, 366
L2-SW FEER XA 7C
& 1 804, 323 804, 323
AT ATIIN =R PEEREA  SM2CH  FcoK40km 16
bps 4 H 1.31umiy
& 2 234,517 469, 034
IR FSPD
& 1 16,993 16,993
LAN/H SPD
& 1 12, 367 12, 367
RN
= 1 3,089, 083
s PR M
= 1 3,284, 202
CCTVERfi L.
= 1 3,014, 883
COTVEE g 1 T
= 1 134, 880
CCTV IPhp72&{ERR & PEfT - FREE
& 1 58, 345 58, 345
L2-SWak & Paft - s
& 1 45, 492 45, 492
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AT ATIIN PR E Paft - s
& 1 13, 347 13, 347
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21 B LABEAHIE
& 1 9, 344 9, 344
IR FSPD
& 1 4,176 4,176
LANH SPD % &
& 1 4,176 4,176
Ser-77 ViR 1
= 1 791, 954
SR AL AR SM-4C
m 840 636. 1 534, 324
SR AL AR SM-4C
m 121 831 100, 551
Her-7" vEE 57-7" LA F
(&0 1 46, 088 46, 088
=77 Wkt 577" LA F
(&0 1 29,717 29,717
Seh-7" vkl 20055 LLF
J71H) 2 16,984 33, 968
Seh-77 vkl 20055 LLF
Scta) 2 23,653 47, 306
Bl & - i L
= 1 2,088, 049
B ELAR CVr=7" I (6OOVAHER V=77 ) 2.0
600V 3. 5mm2 X 2C
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m2
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600V 3. 5mm2 X 2C
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B R TVr=7" v (600VE" = Vieig B 1) 5. 5
m2
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B R UTP#—7" I Cat5e-4P
m 10 1,575 15, 750
B R CVr=7" I (6OOVAHGER Vr—7" ) 2.0
600V 3. 5mm2 X 2C
m 1 2,622 2,622
B R TVF=7" v (600VE" = Vieig B 1) 5. 5
m2
m 1 628.9 628
B EdR UTP/-7" I Cat5e-4P
m 1 2,494 2,494
JBAMEE G £% 28mm
m 324 3,999 1,295,676
ATV AN /N
ZN 5 88. 86 444
TN ARy YT
& 2 1,626 3,252
YAThAVT ) V=yay
= 1 199, 422
YAThAVT) V=yay
= 1 199, 422
YAThAVT ) V=yay
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[FGan
= 1 69, 897
A BT
= 1 69, 897
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= 1 3,284, 202
Bl
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BRRdcE s (it k)
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omaRE (FE L)
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= 1 4,629,015
BTk Xegiib oy
= 1 2,977,278
PeaR R
= 1 948, 148
Hefirs e
= 1 385, 672
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= 1 562, 476
T
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b FHRR M (H 2R LA
= 1 6,178, 166
CCTV AR
= 1 6,178, 166
COTVEE fiE
= 1 6,178, 166
CCTV IPhA73L(E & 5
& 2 1,786, 366 3,572,732
L2-SW FEER XA 7C
& 2 804, 323 1,608, 646
AT ATIIN =R PEEREA  SM2CH  FcoK40km 16
bps 4 H 1.31umiy
& 4 234,517 938, 068
IR FSPD
& 2 16,993 33,986
LAN/H SPD
& 2 12, 367 24,734
RN
= 1 6,178, 166
s PR M
= 1 3,933, 348
CCTVERfi L.
= 1 3, 464, 606
COTVEE g 1 T
= 1 269, 760
CCTV IPhp72&{ERR & PEfT - FREE
& 2 58, 345 116, 690
L2-SWak & Paft - s
& 2 45, 492 90, 984
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& 2 9, 344 18, 688
IR FASPDR%E
& 2 4,176 8, 352
LANJH SPD % &
& 2 4,176 8, 352
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= 1 541, 923
SR AL AR SM-4C
m 405 636. 1 257, 620
SR AL AR SM-4C
m 21 831 17, 451
Her-7" vEE 57-7" LA F
(&0 2 46, 088 92,176
=77 Wkt 577" LA F
(&0 2 29,717 59, 434
Seh-7" vkl 20055 LLF
J71H) 4 16,984 67,936
Seh-77 vkl 20055 LLF
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Bl & - i L
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m 20 1,575 31,500
B R CVr=7" I (6OOVAHER V=77 ) 2.0
600V 3. 5mm2 X 2C
m 1 2,622 2,622
B R TVr=7" v (600VE" = Vieig 1) 5. 5
m2
m 1 628.9 628
B R UTP/-7" I Cat5e-4P
m 1 2,494 2,494
JBAMEE G £% 28mm
m 431 3,999 1,723,569
AFIVAN VP
ZN 10 88. 86 888
TN ARy YT
& 4 1,626 6,504
YAThAVT ) V=yay
= 1 398, 845
YAThAVT) V=yay
= 1 398, 845
YAThAVT ) V=yay
= 1 398, 845
[FGan
= 1 69, 897
A BT
= 1 69, 897
A TG B
= 1 69, 897
[EE77N %
= 1 3,933, 348
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Bl
= 1 1,582,079
BSHLTIE
= 1 151, 154
BRRdcE s (it k)
= 1 151, 154
Him Gk (Fi L)
= 1 1,430, 925
T
= 1 5,515, 427
BTk Xegiib oy
= 1 3, 449, 062
PeaR R
= 1 1,897,213
el e
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T
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b FHRR M (H 2R LA
= 1 3,089, 083
CCTV AR
= 1 3,089, 083
COTVEE fiE
= 1 3,089, 083
CCTV IPhA73L(E & 5
& 1 1,786, 366 1,786, 366
L2-SW FEER XA 7C
& 1 804, 323 804, 323
AT ATIIN =R PEEREA  SM2CH  FcoK40km 16
bps 4 H 1.31umiy
& 2 234,517 469, 034
IR FSPD
& 1 16,993 16,993
LAN/H SPD
& 1 12, 367 12, 367
RN
= 1 3,089, 083
s PR M
= 1 1,987,423
CCTVERfi L.
= 1 1,753,053
COTVEE g 1 T
= 1 134, 880
CCTV IPhp72&{ERR & PEfT - FREE
& 1 58, 345 58, 345
L2-SWak & Paft - s
& 1 45, 492 45, 492
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AT ATIIN PR E Paft - s
& 1 13, 347 13, 347
AT ATIIN PR E Paft - s
21 B LABEAHIE
& 1 9, 344 9, 344
IR FSPD
& 1 4,176 4,176
LANJH SPD % &
& 1 4,176 4,176
Ser-77 ViR 1
= 1 578, 956
SR AL AR SM-4C
m 658 636. 1 418, 553
SR AL AR SM-4C
m 4 831 3,324
Her-7" vEE 57-7" LA F
(&0 1 46, 088 46, 088
=77 Wkt 577" LA F
(&0 1 29,717 29,717
Seh-7" vkl 20055 LLF
J71H) 2 16,984 33, 968
Seh-77 vkl 20055 LLF
Scta) 2 23,653 47, 306
Bl & - i L
= 1 1,039,217
B R CVr=7" I (6OOVAHER V=77 ) 2.0
600V 3. 5mm2 X 2C
m 162 1,703 275, 886
B R TVF=7" v (600VE" = Vieig ) 5. 5
m2
m 162 434 70, 308

- 19 -

Tz B A R




RIS T CHY X

Bl &

THFX Sy - TFE - fh - sl % ZREAL B = A B HIG & f FHE (AR S
B R UTP/—7" I Cat5e-4P
m 10 1,575 15, 750
B R CVr=7" I (6OOVAHER V=77 ) 2.0
600V 3. 5mm2 X 2C
m 1 2,622 2,622
B R TVr=7" v (600VE" = Vieig 1) 5. 5
m2
m 1 628.9 628
B R UTP/-7" I Cat5e-4P
m 1 2,494 2,494
JBAMEE G £% 28mm
m 167 3,999 667,833
ATV IN /N
ZN 5 88. 86 444
TN ARy YT
& 2 1,626 3,252
YAThAVT ) V=yay
= 1 199, 422
YAThAVT) V=yay
= 1 199, 422
YAThAVT ) V=yay
= 1 199, 422
[FGan
= 1 34, 948
A BT
= 1 34, 948
A TG B
= 1 34, 948
[EE77N %
= 1 1,987,423
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BSHLTIE
= 1 80, 615
BRRdcE s (it k)
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Him Gk (Fi L)
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T
= 1 2,672, 654
BTk Xegiib oy
= 1 1,876,143
PeaR R
= 1 948, 148
el e
= 1 385, 672
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= 1 562, 476
T
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b FHRR M (H 2R LA
= 1 1,786, 366
CCTV AR
= 1 1,786, 366
COTVEE fiE
= 1 1,786, 366
CCTV IPh 751 (e R
& 1 1,786, 366 1,786, 366
RN
= 1 1,786, 366
s PR M
= 1 169, 173
CCTVERfi L.
= 1 134, 225
COTVEE g 18 T
= 1 58, 345
CCTV IPh 72L& R & Paft - s
& 1 58, 345 58, 345
Bl & - B iR L
= 1 37,120
B R CVr=7" I (6OOVAHER V=77 ) 2.0
600V 3. 5mm2 X 2C
m 10 1,703 17,030
B R TVr=7" v (600VE" = Vieig ) 5. 5
m2
m 10 434 4, 340
B R UTP#—7" I Cat5e-4P
m 10 1,575 15, 750
CCTVES EHft = T
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Bl & - B ARl 2 1
= 1 15,314
NS TER 7C-2v
m 10 765.7 7,657
NS TER CPEVS0. 9-3P
m 10 765.7 7,657
[FGan
= 1 34, 948
A BT
= 1 34, 948
TG B
= 1 34, 948
[EE77AN %
= 1 169, 173
Bl
= 1 63,209
BSHLTIE
= 1 5, 496
B RRdcE s (it k)
= 1 5, 496
Him Gk (Fi L)
= 1 57,713
T
= 1 232, 382
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= 1 173, 140
PEaR R
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Hefirs e
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= 1 325,210
T
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= 1 1,786, 366
CCTV %A
= 1 1,786, 366
COTVEE fiE
= 1 1,786, 366
CCTV IPh 751 (e R
& 1 1,786, 366 1,786, 366
RN
= 1 1,786, 366
s PR M
= 1 252, 167
CCTVERfi L.
= 1 199, 740
COTVEE g 18 T
= 1 87, 504
CCTV IPh 72L& R & Paft - s
[##]
& 1 87,504 87,504
Bl & - B iR L
= 1 54,111
B R CVr=7" I (6OOVAHER V=77 ) 2.0
600V 3. 5mm2 X 2C
[##]
m 10 2, 469 24, 690
B R TVr=7" v (600VE" = Vieig ) 5. 5
m2
[##]
m 10 601. 1 6,011
B R UTP#—7" I Cat5e-4P
[##]
m 10 2,341 23,410
CCTVES EHft = T
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= 1 27, 436 27,436
FERR (5-FR) it T a—& s
[##]
= 1 7,729
Bl & - B ARl 2 1
= 1 22, 960
NS TER 7C-2v
[##]
m 10 1,148 11, 480
NS TER CPEVS0. 9-3P
[##]
m 10 1,148 11, 480
[FGan
= 1 52, 427
A BT
= 1 52, 427
TG B
[##]
= 1 52,427
[EE77AN %
= 1 252, 167
Bl
= 1 93, 440
BSHLTIE
= 1 7,328
B RRdcE s (it k)
= 1 7,328
Him Gk (Fi L)
= 1 86, 112
T
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BTk Xegii oy
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PEaR R
= 1 350, 860
Hefirs e
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T
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